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SECTION- A

Answer ALL Questions in 30 words each:




(10 x 2 = 20 Marks)

1. What are the major types of financial decisions that a business firm makes?

2. What is Capital Expenditure Budget?

3. A project costs Rs.40, 00,000 and yields annually a profit of Rs.6, 00,000 after  

    Depreciation @12.5% but before tax at 50%. Calculate the payback period.
4. What is meant by ‘Operating Cycle Concept’ in management of working capital?

5. Define Cost of Capital.

6. What is Working Capital?

7. What are the motives for holding cash?

8. What is Pay back Period?


   9. Calculate degree of operating leverage from the following data:

a) Sales 2, 00,000 units @ Rs.4 per unit.

b) Variable cost per unit @ Re. 0.70

c) Fixed cost Rs.2, 00,000

d) Interest charges Rs.7,336.

10. What do you understand by operating leverage?


SECTION – B

Answer any FIVE only in about 300 words each:
                   

(5 x 8 = 40 Marks)
11. “The operative objective of financial management is to maximize wealth of the firm”-  Discuss.
12. Discuss the importance of capital Budgeting.
13. Using the information given below, compute the Pay-Back Period under Traditional Pay-Back   

       Method. Comment on the results.

Initial Outlay


Rs.80,000

Estimated Life


5 Years

Profit After Tax:

End of Year
1

Rs.6,000

2 14,000

3 24,000

4 16,000

5 Nil

      Depreciation has been calculated under straight-line method. The cost of capital may be taken at    

       20%p.a and the P.V of Rs.1 at 20% p.a is given below:

Year:
 
  1
  2
  3
  4
  5

P.V factor
.83
.69
.58
.48
.40

14. From the following information, extracted from the books of a manufacturing    company, 

      compute the operating cycle in days and the amount of working capital required:


Period covered



  
    365 days

Average period of credit allowed by suppliers
    16 days








     Rs.

Average total of Debtors outstanding


    2,40,000

Raw Material consumption



  22,00,000


Total Production cost




  50,00,000

 Total Cost of Sales




  52,50,000

Sales for the year




  80,00,000

Value of Average Stock maintained


    1,60,000

Work in progress




    1,75,000

Finished Goods





    1,30,000


15.  Summarized below are the Income and Expenditure forecasts for the months of  March to July 2007.

 Month

Sales.(Rs.)

Purchases.(Rs.)
Wages.(Rs.)

 March

60,000


36,000


  9,000


 April

62,000


38,000


  8,000

 May

64,000


33,000


10,000


 June 

58,000


39,000


  8,500

 July

56,000


39,000


  9,500

Prepare cash budgets for 3 months starting from 1st May 2007.

i) Cash balance on 1st May 2007 Rs.8,000

ii) Advance tax Rs.8,000 payable in March and June each.

iii) Credit allowed by suppliers is 2 months and allowed to customer 1 month.

iv) Lag in payment of wages in one month.

16. For varying level of debt-equity mix, the estimates of the cost of debt and equity. Find the    

       optimum debt equity mix 

            Capital after tax is given below:

Debt as % of total

     Cost of Debt
   Cost of Equity

Capital Employed



  0



  7.0


15.0



10



  7.0


15.0



20



  7.0


16.0



30



  8.0


17.0



40



  9.0


18.0



50



10.0


21.0



60



11.0


24.0
17.  Preferred Hospital Ltd issued 30,000, 15% Preference shares of Rs.100 each. The cost  of issue was 
       Rs.30,000. Determine the cost of preference capital if shares    are   issued (a) at a premium of 10% and
      (b) at a discount of 10%.
SECTION - C

Answer any Two in about 1200 words:


     (2 x 20 = 40 Marks)

18)  What do you mean by Optimum Capital Structure? Make a list of factors determining   Optimum 
       Capital Structure.

19) A Limited company is considering investment in a project requiring a capital outlay of 

      Rs.1, 00,000. Forecast for annual income after depreciation but before tax is as follows:

                           Year.


               Rs.

i.  

         50,000

ii.                                     50,000

iii.                                     40,000

iv.                                     40,000

v.                                     20,000

     Depreciation may be taken as 10% on original cost and taxation at 50% of net income. 

     You are required to evaluate the project according to each of the following methods.

1) Pay Back Method

2) Rate of Return on average investment method.

3) Discounted cash flow method taking cost of capital as 10%

4) Net present value index method.
20. Explain various determinants of working capital of a concern.

21) Apex Hospital Ltd has the following capital structure:

Particulars

Market Value

Book Value

Cost %


Equity Capital 

 Rs.80,00,000

Rs.120,00,000

18


Preference Capital
 Rs.30,00,000

Rs.20,00,000

15


Secured Debt

Rs.40,00,000

Rs.40,00,000

14


Cost of individual sources of capital is net of tax. Compute the Weighted Average 

             Cost of capital Based on Market Value and Book value.
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